Unit 5 Quiz 2 Review

. Alayna has 52 toy cars. She sorts them into 13 piles. How
many toy cars are in each pile? Mark the correct answer.

A 13 B. 2 C. 4 D. é

2. Jade wanted to order 18 of the same toy from The Toy

Factory. Which combinations could she order? Mark the
THREE correct answers.

3 Marbles: two 9-packs
Q Spinning tops: four 3-packs, one 30-pack
0 Jump ropes: 8 1-packs, one 10-pack

3 Toy animals: three é-packs

3. Which product is greater? 3 x é or 4 x 57 Circle the correct
answer.

3x6 bx5 They are equal.

4. Solve the problem. Mark the correct answer.
3 x30=

A 33 B. 60 C. 900 D. 90
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5. Draw lines to match each equation with its correct answer.

24 + 4 = 4
30 ~ 6 = 6
32 + 8= 9
8l + 9= 5
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